2. ura
ZAPIS V ZVEZEK:
ENAČBE DELJENJA
1. 
	x : 8 = 9
     x = 9 · 8
     x = 72

15 : x = 5
       x = 15 : 5
       x = 3
	Pr.: 72 : 8 = 9
              9 = 9



Pr.: 15 : 3 = 5              
             5 = 5



2. Reši enačbe in naredi preizkus.
	ENAČBA
	POMOŽNI RAČUN:
	PREIZKUS:
	POMOŽNI RAČUN:

	100 : 20 = x
	
	
	

	168 : x = 24
	
	
	

	x : 26 = 39
	
	
	

	465 : x = 31
	
	
	

	x : 32 = 33
	
	
	



D.N. : UČBENIK str. 90/ 1. a naloga







REŠITVE:
2. naloga
	100 : 20 = x      x = 5

	168 : x = 24      x = 7

	x : 26 = 39        x = 1014

	465 : x = 31      x = 15

	x : 32 = 33        x = 1056



